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(ii) 'f1sft 'JIR 31f.!Jr:11ef t I� "5lR cl; f.mfftrr JR;� 871¥ � 77Tf t I

(iii) 'l'f'URTrW 'Jl'F/7 'It, 1TURT -q;- 81lRf ��I

(iv) w::r, -q;- Jl/afiJq, 3ffr (/fJrc! I

(vJ � 31/c#?IC/'J �' am?Jf.lq, &ifli:fi<V/ � 1

t. � m � � W's 1l � fclq;� � � � I � fclq;� � � � �-��q;1

-q R-1 f@Q, I
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(i) 0· 125 mol L-1

(iii) 0·250 mol L-1

(i) 1

(iii) 3

1 

(ii) 0· 139 mol 1-
1

(iv) 0·278 mol 1-
1

(ii) 2

(iv) 6

1 

1 
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2. 

(ll) � Bsnqur mq ftR:rij qflqJ.ft4 3iT<R-ftcfi<o1 � :rtf "tITTfi � � ': 1 

(i) Sc (ii) Ti

(iii) V . (iv) Cr 

(tl) � � a.:11<4?14 � � 31fucfi � : -. 1 

(i) (CH3)2 NH (ii) CH3NH2

(iii) (CH3)3 N (iv) NH3

(s) mm it :Si$�cfi<l$:S 'ilf{ � : 1 

(i) � (ii) ��ffi{i
(iii) 8ctae (iv)

' Gi('"<'..r{i

(�) R'-1�mAd * "B �-"B � � � � � � � � ? 1 

(i) ��1�iz;,i (ii) �fF-s�l$S

(iii) � (iv) cfilat1fit�@cfi �

(q:;) 30 g ef� 1H1$cfili?1 (C2H602) � 450 g � -q Mz;-ti<II Tj(fl I R8ktmAd � 

lfURT 4>) N1 Q. J+l 

(i) RIH4-l � � -q m;r

(ii). Rlc.-14-1 cfi1 �

(&) f.n:;J � � � cblM({ 1+1 

(i) � ml

(ii) 1flHHdl

(rr) �� 3il�iH � �? �� �,3">i:l-1 � � � fcl�=q-i, 4ilRi1Q. , 1+1 

(r.:r) [Fe(NH3)2 (CN4)r � �,fqd)� �fJ-llq�cil c€1 zj(i::l-il <!.:til�Q, I
2 

3. (cfi) CH3 - CH2 - CH2 - CH3 � � � ful{l·H � � cf@ � � 'l11l#11D

(
°

{sf) q';)4T1.1 � "T1f � � � � �� � 3<!,i«l4 � � I � 

� {14$11�Q, I
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(11) Ai..iltil<!Ja -q � � :

(i) Q��f?s�l$s ci'm ��il-1

( m Q,ffl <'..1 il-1 i-t crm � .-;,?1 Cbl-t i-t 

(er) �� o?-l'T ��if� 3RR � ? l-14$11$(( I 

1+1 

2 

4. ("en) fcle4-1 � � � 1 � � � � q;) � � -a � cfi\

5. 

� t? l-14$11$(( I 1+2 

('�) M �-� � f¾e�H � ilkfcfidl '({ci � -i::IIC"fcfidl � tJft,wn � I 

� � m� � qflc1J-t � f¾�iHI � I 1+1+1 

(TJ) � "cfiTR� � � 31TCi ���?�"SJ� clilft � � � �

>ITTm � 0·6 mol L-1 -a 0·4 mol 1-1 � -ij 5 fir-Jc 'cfiT � WraT t I

>ITTm � q;) 0·3 mol 1-1 �if���? 1+2 

(er)·�•��: 1+1+1 

(i) 

(ii) 

(iii) 

("cfi) (i)

(ii) 

Fe2+ �4-i::114cfi � � Mn2+ � Jilcm1cfil(cfi � I 

Sc CZ = 21) � � � t � Zn (Z = 30) � t I

�$fi40I �crmm�'3tfli�cill'cfil<f 'cf>m� I 

Cu (s), HCl -ij � 'gffifT t I cRTT ?

� 31TCi � � qf:i -ij W � cill fcic-P-H W � � ? � � 
V 

(�) 8fsfi401 Jwff � t ? 600 K olli -q( tffe@ �14'isl$s t RJ..¾R-lro,a � �
� 'q, °5j'� q;)fl � °ffffl 1•60 X 10-S S-l t I�� cfi1 tifsfi401 

� 209 kJ/mol t I 700 K 'ffi'q � WT � c#i't TJURT � I

C2H5I Cg) � C2H4 (g) + HI (g)

(TJ) (i) [Ni(HzO )61
2
.j. 'cfiT Riall-t � t � [Ni(CN)4]2- q;J Rle<H � t I 

84$!1�!Z I 

(ii) [Cr(NH3)6]
3+ 

Ji�fSAl4i'lll t � [Ni(CN)4]2- Slfa'gA!4i'lll � I

2 

2 

1+3 

2 

«4$11$(( I 2 

(er) »<Rll-1 ciiT � � � 1 � � <ffi <tl-114f4cfi T1TT t U(-114Rcfi (-liflcn<o1 

�ro,((I 1� 

347 (FZ) 3 P.T.O. 

Previous Pathshala



6. ("cfi) �mm��: (� {ltll4Acfi exftcfi{OI �) l+l+l+l+l 
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(i) � j(1Jil$S cfl1 mfs4q �211#11$S � � cJiW � ?

(ii) ifffi(l�.=;ift-1 -il$�cfi � -a � cfmt1 t ?

(iii) c:f�1)(1�.:;i11-1 "cfiT � ffifs<iq $i$�Tc:mt$s � m� 623 K o2ff

300 qlgJiosi_vflll � � 7TJf 'cfita �?

(iv) #11(1�.=;ift-1 ti("9<!!"(cfi � t m� � cJ>«Jr � ?

(v) lf� #11U$s 'cfi) � KOH t m2J rnf � � ?

$��T-1<11fi � � Cf<TT � ? i:fffi(l�.:;,ll-1 � �ctl'Jf➔➔, -lt${lcfi<or o2ff

(-n,:q,1��1➔ c1;t $Jl¾T➔<l'fi •� � ot114Acfi eificfi<o1 • 

CH
3

I 
(i) CH3 - CH - CH - C - CH

3
I I I 

CH
3 OH CH

3

(ii) HO - CH
?. 

- CH - CH20H
� I 

OH 

(iii) H
3C � CH?. - 0 - CH - CH?. - CH

3� 
I 

� 

CH3

hoH 
(iv) � 

CH
3 

4  

2+1+1+1 

1+1+1+1+1 
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(i) 

(ii) 

(iii) 

(iv) 

(v) 

O'
OC2if5

I +HBr�

�H2
S04O'

OC2H
6

. �HN03 

tt;c -CH = CHz H20/H
+ 

NaBH
4H3C-CH?-CH-CHO 

J I 

CH3

aCOOH S0Cl
2

I 
COOH 

1+1+1+1+1 

7. (th) R'-1R1furn qf{clJ-1 t � ot11J.1Ptth t14lefi<u1 R-tfuiQ, : 1+1+1+1+1 
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(i) �-l-3lIB -a &\l•ll$efi �

(ii) &\lqe, � &\l-11$<:fi �

(iii) �--ll$?i�l1i1�.:;ift-1 -a 3--11$�1��1$<:fi �

(iv) �f..9te, ��1�Tei -a � �� �

(v) �R:tt> � � �mi!.1q1$s

� tf>IGTRth �frlq:; 'en',_. ( �,foclq; � C8H1602) cf>l 'oJ tt�ftq:; � t m�
I 

�-�q�R:a � t � � etiliii1R'�R,,q:; � '1s' � � �,�Tei 'TT' mH 

� I 'rr' q:;) sti1flleti � t m� �T<t4'ifd qi8 'G1: 'lg' � m<TI i I 'TT' cfil 

PtJciltf>(Uj cfi8 'G1: �-1-f.T >Im Wffi � I

cfi, �, TT c€t q�ilH 4,l�Q, I �311 -ij � � q@ � (1f\14Rth 

e4ltf><On � R-tf€!Q. , 5 
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("'3) Rl-.i�mhi J.flf?i.;1 t � -q � t � (l{-ll<!Rcfi eiftcfi(OI m%o � (IBl<IR<fi 
w� ri::-1fuio,: 1+1+1+1+1 

(i) �c1Qi:fl-1 a; Si$rl�c1Qi:fl-1

(ii) �c1Qift.:i q Qf.H{l.:i

(iii) �Rctl.:i q �Nkt�ifl.:i

(iv) �R<."11.:i cf N-M-R1�ifl.:i

(v) �d)llcfi cf 1dlllcfi �

�� 

f.rq � � Qcqforlli �roil!, 

"\ " (ii) :Si$Q}11dcfi(OI

(English Version) 

Instructions: 

(i} First 15 minutes are allotted for the candidates to read the question paper. 

2+1+2 

(ii) All questions are compulsory. Marks allotted to each question are given against it.

(iii) In numerical questions, give all the steps of calculation.

(iv) Give relevant answers to the questions.

(u) Give chemical equations, wherever necessary.

1. Four alt�rnatives are given in each part of this question. Write the correct
alternative in your answer-book.

(a) 5 g NaOH is dissolved in 450 mL solution. Molarity of the solution is : J 

347 (FZ) 

(i) .0· 125 mol L -l

(iii) 0·250 mol L -l

(ii) 

(iv) 

0· 139 mol L-1

1 0·278 mo! 1-
6 
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(b) The oxidation number of Cobalt in Ka [Co(C2O4)3] complex is 1 

(i) 1 (ii) 2

(iii) 3 (iv) 6

(c) The transition element in which variable oxidation state in not found. j._: I 

(i) Sc (ii) Ti
(iii) V (iv) Cr

(d) The compound having most basic strength is 1 

(i) (CH3)2 NH (ii) CH3NH2
(iii) (CH3)3 N (iv) NH3

(e) The compound which is not a disaccharide is: 1 

(i) Sucrose (ii) Cellulose
(iii) Lactose (iv) Maltose

(f) Which of the following compound is identified by Toll en's Reagent? 1 

(i) Alcohol (ii) Aldehyde,

(iii) Ketone (iv) Carboxylic acid

2. (a) 30 g Ethylene glycol (C2Hc;O:l ) was mixed in 450 g water. Calculnle the
following: 1+1 

(i) Depression in freezing point of s�lution
(ii) Freezing point of solution

(b) Define the following : l+l 

(i) Mole fraction
(ii) Molality

(c) What is Lanthanoid Contraction ? Discuss the effect of Lanihanoid
Contraction. l+J 

(d) Show the structure of geometrical isomers of [Fe(NH3)2 (CN))r. 2 

347 (FZ} 7 P.T.O. 
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3. (a) Recognise all the possible monochloro structural isomers formed by free

radical chlorination of CH3- CH2- CH2 - CH3. 

(b) Phenol shows acidic properties but ethanol is almost neutral. Explain with

reason.

(c) Differentiate between the following :

(i) Acetaldehyde and Acetone

(ii) Acetophenone and Benzophenone

(d) What is the difference between nucleoside and nucleotide ? Explain.

4. (a) Define solution. In how many different ways may the concentration of a

2 

2 

1+1 

2 

solution be expressed? Explain. https://www.upboardonline.com 1+2 

(b) Define the conductance and molar conductance of a solution 'of any

electrolyte. Discuss their variation with concentration. 1+1+1 

(c) What do you understand by first order reaction ? The time taken in

becoming 0·4 mol L-1 from initial concentration of 0·6 mol L -l is 5 minutes

in a first order reaction. How much time will be required for the initial 

concentration to reach 0·3 mol L-1 ? 1+2 

(d) Describe with reason: 1+1+1 

(i) Fe2+ is a reducing agent while Mn2+ is an oxidising agent.

(ii) Sc (Z = 21) is a transition element but Zn (Z = 30) is not.

(iii) Transition elements and their compounds work as good catalysts.

347(FZ) 8 
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5. 

6. 

(a) (i) Cu (s) does not dissolve in HCI. Why ?

(ii) Can you keep copper sulphate solution in a vessel of zinc ? Explain
with reason.

(b) What is Activation Energy ? At 600 K, on decomposition of ethyl iodide by
following first order reaction, the velocity constant is 1 ·60 x 10-5 s -l.
Activation Energy of this reaction is 209 kJ/mole. Calculate velocity

2 

2 

constant at 700 K temperature. 1 +3 

(c) (i) Solution of [Ni(H20)6]
2+ is green, but solution. of [Ni(CN)4]

2- is

colourless. Explain. 

(ii) [Cr(NH3)6]
3+ is paramagnetic, while [Ni(CN)4]2- is diamagnetic.

Explain.

(d) W :"ite the structural formula of fructose. Write chemical equat.io:ns of three

2 

2 

ch:.:mical properties of glucose. 1 +3 

(a) What happens when:

(Give chemical equations only)

(i) Ethyl bromide reacts with sodium ethoxide ?

(ii) Chlorobenzene reacts with nitric acid ?

1+1+1+1+1 

(iii) Chlorobenzene is heated at 623 K and 300 atmospheric pressure with
aqueous sodium hydroxide ?

(iv) Chlorobenzene reacts with-sulphuric acid?

(v) Ethyl chloride is heated with aqueous KOH?
OR 

What is electrophilic substitution reaction ? Explain with chemical equation 

the reactions of electrophilic substitution reactions of halogenation, 

nitration and sulphonation of chlorobenzene. 2+1 +1 +1 

347 (FZ) 9 P.T.O. 
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(b) Write IUPAC name of the following compounds:
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CH
3 I 

(i) CH3 - CH - CH - C - CH
3

I I I 

CH3 OH CH3

(ii) HO - CH2 - CH - CH?OH
I 

-

OH

(iii) H
3C - CH2 - 0 - CH - CH

2 
- CH3 I 

(iv) 

hoH 

UcH 3

CH3

(v) H
3C - CH - CH - CH - CH

?
OH

I I I
., 

Cl CH
3

CH3

OR 

Predict the products obtained in the following reactions

(i) 

(iii) 

(iv) 

+ HBr�

cone. H2S04

cone. HN03

· H?O/H
+ 

H3C - CH = CH2 ----

(vl 
aCOOH

�COOH

SOCI2
Temp. 

10 

1+1+1+1+1 

1+1+1+1+1 
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. 7. (a) Write only chemical equations for the following changes : l+I+l+I+I 

(i) Butanoic acid from Butan-1-ol

(ii) Butanoic acid from Butanal

(iii) 3-Nitrobenzoic acid from 3-Nitrobromobenzene

(iv) Phenyl ethanoic acid from Benzyl alcohol

(v) Aceiamide from Acetic acid

OR 

A carboxylic acid 'B' and an alcohol 'C' was obtained after hydrolysis of an 

organic compound 'A' (molecular formula (C8H16O2) with dilute sulphuric 

acid. 'B' is produced on oxidation of 'C' with chromic acid. But-1-ene is 

obtained on dehydration of 'C'. 

Identify 'A', 'B' and 'C'. Write chemical equations for all the reactions 

involved. 

(b) Differentiate be'twcen the following pairs of compounds by writing

5 

chemical equations of one chemical test 1+1+1+1+1 

(i) Methylamine and dimethylamine

(ii) Ethylamine and aniline

(iii) Aniline and benzylamine

(iv) Aniline and N-methylamine

(v) Secondary and tertiary amine

OR 

Write short notes on the following : 

(i) Carbylamine reaction

(ii) Diazotization

(iii) Gabriel Phthalimide Synthesis

2+1+2 
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